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ZOOLOGY — MINOR
Paper : MN-1
(Cell Biology)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

Section - A

Answer any ten questions : 2x10
(a) Differentiate between peripheral and integral membrane proteins.

(b) Name two types of cell-cell junctions.

(c) What is Signal Hypothesis?

(d) Mention two roles of the Golgi apparatus.

(e) What is protooncogene? Give example.

(f) List the two main cytoskeletal components.

(g) Define glycocalyx.

(h) Distinguish between Heterochromatin and Euchromatin.

() What is the function of SER?

() Name any two types of signalling molecules.

(k) Give example of an initiator caspase and an executioner caspase.

() What are the key components of the lipid bilayer in the plasma membrane?
(m) What is facilitated diffusion?

(n) What are the major phases of the eukaryotic cell cycle?

(o) Write the full form of FRAP.
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Section - B

2. Write short notes on (any three) : 3

(a)
(b)
(c)
(d)
(e)

(b)
(c)

(b)
(c)

(b)

(b)
(©)

(b)
(c)

(b)
(c)

(b)
(c)
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Nucleosome model of chromosome
Intrinsic pathway of apoptosis
RTK signalling pathway
Tight junction and Desmosome
Ultrastructure of mitochondria.
Section - C

Answer any four questions.

Distinguish between Uniport and Symport.
Explain protein glycosylation within the Golgi.

What are microtubules? What do you mean by 9+2 arrangement of microtubules? 2+4+(2+2)

Explain the structure and function of Gap junction.
Explain with example how chromosomal translocation causes cancer.

What do you mean by paracrine signalling? (3+2)+(1+2)+2

Describe the mitochondrial respiratory chain and its components.

Explain Frye-Edidin experiment with reference to membrane protein mobility. 5+5

Discuss the role of retinoblastoma protein (Rb) in cell cycle regulation with suitable illustrations.
Mention the significance of S-phase in cell cycle.

What are second messengers? Give example. (3+2)+3+(1+1)

Write the principle of bright field microscopy. Write the working principle of TEM.,

What is flip flop movement in fluid mosaic model?

What are the different types of proteins present in plasma membrane? What is the main function
of membrane carbohydrates? (3+2)+2+(2+1)

What is a cell cycle check point? Write about the three most important check points in the cell cycle.

What is MPF?
Why is p53 called the ‘Guardian of the Genome’? (1+3)+2+(2+2)

Classify the chromosomes on the basis of the position of their centromere.
Describe the structure of Kinetochore with a diagram.

What is telomere? 4+(2Yr12)+2
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